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ناخالص 
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gAg → molAg → molZn → gZn → g Znناخالص

?g Z = 53٫93g Ag × × × × = 20٫28g Znnناخالص
1mol Ag

108g Ag

1mol Zn

2mol Ag

65g Zn

1mol Zn

100g نمونھ ناخالص
80g Zn

ناخالص

N O = (23 × 2) + 16 = 62g ⋅ moa2 l−1

gN O → molN O → molNa → gNaa2 a2

?g N = 12٫4g N O × × × = 9٫2aناخالص a2
1mol N Oa2

62g N Oa2

4mol Na

2mol N Oa2

23g Na

1mol Na
gNa خالص

Naدرصد خلوص =
خالص Na جرم

ناخالص Na جرم
×100 =

9٫2
16٫2

×100 = 56٫79%

?g = 200 × × × × = 15gH2 gMg ناخالص
90g Mg

100g Mgناخالص

1mol Mg

24g Mg

1mol H2

1mol Mg

2g H2

1mol H2

H2

?g Ca = 33٫5g × × × ×C2ناخالص C2H2

1mol C2H2

26g C2H2

1mol CaC2

1mol C2H2

64g CaC2

1mol CaC2

100g Ca C2ناخالص

84g CaC2

= 98٫6g CaC2

?lit = 54g A × × × × = 53٫76 litH2 lناخالص
80g Al

100g Alناخالص

1mol Al

27g Al

3mol H2

2mol Al

22٫4 lit H2

1mol H2

H2
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